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QUESTION 1

A customer with a Hitachi NAS Platform 3100 wants to implement anti-virus scanning. In which Hitachi NAS Platform
related document do you find information about supported anti-virus scan engine software? 

A. the Access Control List (ACL) 

B. the Administration Guide 

C. the Independent Software Vendor (ISV) list 

D. the Hardware Compatibility List (HCL) 

Correct Answer: C 

 

QUESTION 2

A customer with a Hitachi NAS Platform connected to a production Hitachi USP V requires a Recovery Point Objective
(RPO) of 20 minutes or less for their replicated data. Each of their four file systems has a minimum of 20 TB of data and
50 million files. Each file system has a heavy change rate. Which three replication products meet the customer\\'s RPO?
(Choose three.) 

A. Hitachi Universal Replicator 

B. TrueCopy 

C. Intelligent Data Replication 

D. Incremental Block Replication 

E. ShadowImage 

Correct Answer: ABE 

 

QUESTION 3

You are designing a solution with a Hitachi NAS Platform cluster connected to a Hitachi AMS2000 Family storage
system with SAS disk drives. Which two actions will optimize performance? (Choose two.) 

A. Configure at least 4 LUNs per RAID group. 

B. Configure 1 LUN per RAID group. 

C. Disable superflush on each system drive. 

D. Set the correct superflush setting on each system drive. 

Correct Answer: BD 

 

Latest HH0-450 Dumps | HH0-450 VCE Dumps | HH0-450 Braindumps                                2 / 3

https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html


https://www.passapply.com/hh0-450.html
2024 Latest passapply HH0-450 PDF and VCE dumps Download

QUESTION 4

Your customer is asking about the Hitachi NAS Platform connectivity support. Their network media type consists of LC
optical interfaces on all their 1 GbE Ethernet switches. Which statement is correct? 

A. The 3090 model supports optical SFP on 1 GbE ports. 

B. The 3100 model supports RJ45 copper connectivity only. 

C. The 3200 model supports 1 GbE optical connectivity. 

D. Optical connectivity is not supported on any Hitachi NAS Platform. 

Correct Answer: C 

 

QUESTION 5

A customer wants to implement a 2 PB Hitachi NAS Platform 3200 solution while using a Hitachi AMS2000 Family
storage system. Which two must be considered during the solution design phase? (Choose two.) 

A. The 3200 supports a 2 PB Storage Pool size. 

B. The largest RAID group size in a Hitachi AMS2000 Family is 38D+2P. 

C. A minimum of 8 storage pools are required to achieve 2 PB. 

D. The largest LUN size supported by a Hitachi AMS2000 Family is 60 TB. 

Correct Answer: CD 

Latest HH0-450 Dumps HH0-450 VCE Dumps HH0-450 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest HH0-450 Dumps | HH0-450 VCE Dumps | HH0-450 Braindumps                                3 / 3

https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html
http://www.tcpdf.org
https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html
https://www.passapply.com/hh0-450.html

